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PREFACE

The Mathematics Year 2 textbook package is written based on the Standard-Based
Primary School Curriculum Year 2 in line with the implementation of the revised
curriculum starting from 2017. The writing of this textbook is tailored o meet the needs
of the pupils to understand basic mathematical skills from the easiest level to the most
abstract level. This textbook package is published to produce pupils who are able to
apply mathematical knowledge and skills, effectively and responsibly in their daily lives.

This textbook package consists of three components, namely Textbooks Part |
and Part 2 and Activity Book. The topics contained in the textbooks are as follows:

)
Textbook Pqrt|. tbook Part 2:
e Numbers ;r?r)(;c’ri ons and Decimals
up to 1000 » Money
¢ Addition, o TiMme d
Subtraction, « Length, Mass, c:g
Multiplication, Volume of Liqu
and Division o Shapes
o Datfd

All of these topics are also contained in the Activity Book.

The textbooks focus on the goals of mathematics learning consisting of basic
mathematical concepts and skills. The presentation of these books is tailored to
incorporate related reasoning questions so that pupils can communicate as well as think
critically and creatively. Each lesson is enhanced with formative exercises o be carried
out either orally or in writing as well as additional activities proposed in the teacher’s
notes. Furthermore, the recreational element in the lesson is infused via Let’s Explore and
Let’s Have Fun to create an active and fun learning environment. Besides, moral values
are instilled indirectly through the learning activities and pictures.

The Activity Book provides reinforcement, remedial, and enrichment activities
to strengthen and enhance pupils’ understanding on what they have learnt in the
textbooks. Teachers are encouraged to prepare extra activities and exercises according
to the pupils’ needs and abilities.

The textbook package is hoped to provide meaningful and fun lessons as well as
to increase pupils’ interest in mathematics. To use this textbook package, teachers can
refer to the following explanation.
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NUMBERS UP TO 1000 ¢

—__< —

§ PETRONAS
TWIN TOWERS

e Has 88 floors.

About 452 metres high.
The length of the bridge is
58 metres.

e Has a hall with 865 seats.

Each tower has
eighty-eight floors.

/ The height is about
four hundred and

fifty-two metres.

) e Ask pupils to tell stories about the picture. ]
PEGeee LI

lexc' V\O‘ e Carry out an activity to get pupils to say the numbers involved in the given B ("')

A facts individually or in groups. L11 (i)




Monday

QO
W go
&(O?\G $0'Y€

15/1/2018

[Read or say your number.7

Three
hundred and| |Eight hundred
sixteen. and seven.

Show the number
nine hundred and thirty-five.

e In pairs, provide more reading activities of any number in words.
Get pupils to say the number using flash cards to strengthen pupils’
understanding.

.11 G)
111 (ii)



My number is
four hundred and Mine is {Mine is three hu.ndred}
fifty-one. wo hundred and ’renJ and twenty-eight.

T

[Mine is ten and one.

Which number is said
wrongly? Say it correctly.

e Get pupils to carry out activities of saying numbers in numerals or words L1 ()
in a quiz or question and answer session using calculators, computers, 11 (i)
and others. o

c,\“"

\c;’a
o'
(&KW




3 Let’s match the number with its word.

: r h
six hundrec Ung,
eighty-five and fW@DEd
: €ven
OSI(;( hundred Ondi;# df'ed
n ﬁﬁy‘eight ree
four hundred and
nineteen
seven hundred
and thirty
four hundred and
ninety-one
seven hundred
and thirteen
c\)@fes e Carry out number m.o?ch.ing ocﬂvitg.using words or vice versa in the 111 i)
& N0 form of a game. Do it inside or outside the classroom.
4 A e Carry out the activity of matching number cards with word cards.




%

603 630

Say these two numbers.
What is the difference?

o Read and say the following numbers.

@ one hundred and ® three hundred and
twenty-three eighty

@ two hundred and seven @) five hundred and nine

0 319 U1 Yivy © 670 @ g08

320 j ¢ two hundred and thirty

56l seven hundred and four
516 ‘ five hundred and sixty-one ‘

230 ¢ three hundred and twenty

4|7 ‘ eight hundred and ninety-six ‘
896 five hundred and sixteen

704 e four hundred and seventeen

¢ Provide more questions in question cards or worksheets. I.1.1 (i)
1. 1(iii)

%o
%,
;\“ w»
(1))

e Train pupils to say the numbers on a number line. J 11 (i)




Wednesday [7/1/2018

Write numbers in numerals.

@ one hundred and fifteen @ one hundred and HPr\/

15

150

——

2 [Le’r’s write the numbers in words.)

X \25 [ Guide pupils to write numbers in numerals and words correctly in the 12
O 2.

lined exercise book (three-lined book).




I have written
two hundred
and thirteen.

<(Which one is incorrect? Correct i’r.]

0Wri’re the numbers in numerals.
@ two hundred ( three hundred and fifty

@ four hundred and sixteen @) six hundred and eight
@Wri’re the numbers in words.

© 543 © 780 (c Xy @) 902

C(\g@;’?ﬁ J !Emphcsise .To. pupils to write numbers according to its value and not the 1.2
Pt individual digits.
A e Carry out an activity of writing numbers in numerals and words on a 7

drawing paper using crayons and coloured pencils.




One packet contains 10 kuih.
4 packets contain 40 kuih.

\

five hundred

/100 A /100 A /100 A /10 A/10 A | and forty
| 540 |

/100 A /100 A /10 A/10 A

T
What is the total
number of marbles?

- 0 A/10
o /10 A0 A

. o Use real objects such as ice cream sticks and plastic straws for pupils 1.1.2 (i)
o"?’ to understand the number value of any given number. o




3

This shows a
value of 526. This shows
a value of
435.
526 435

M

If 2 blocks of hundreds are taken
out, what is the number now?

@ <(thn‘ is the number’P

& &
& &
9 &
996
9@

o \)S,, 1(«,5 o E.mprlmsise the value represented by each base block through 11.2 ()

P N0 simulation. . . . .

<& e Guide pupils to determine the object quantity for any given number q

value using counters, counting frames, abacus, paper squares, and
others.




2 MATHEMATICS CORNER

" Four hundred
and twenty-six.

=

426

hundreds tens ones

e

6 [Who’r is the number?l

©

g3
-

C) = I =
& ) <4
(/S

hundreds tens ones g g

‘85"9: 5?’5 e Provide various numbers and ask pupils to show the numbers using 11.2 (i)
Qy\c' $O‘ counters, abacus, and counting frames. Carry out activities in groups o
10 A or individually.




7 Thursday 8/1/2018

Match each group of objeds with its number.

125 214 362 345

8 Friday 19/1/2018

Armnge the number cards on the number line.

976 977 978 979 980 qal

[The numbers are getting Iarger.j7

‘9\?’9: S S e Carry out activities of matching groups of objects such as counters, -
X ot fing fi d abacus with the number val it 1.2 (i

&N counting frames, and abacus with the number value as a competition

A using flash cards. [




blocks show the
" same numbers?

Do the base ‘
Why?

o Show the following numbers using base blocks and
abacus.

® 160 © 517 0 739 @) q08
@ What is the number?
0 ®

J1I0A/10 AS10 AS10 A

hundreds tens ones

o Surf hitps://www.slideshare.net/mazlan81/modul-pp-matematik- 1.2 (i
nombor-dan-operasi-thn-2

\e‘gﬂl’ 5?’5 * Emphasise that 10 tens is the same as 100 and 10 ones is the same 1.1.2 (i)
2 /\Qy& Qo' as 10.




in one hundred and forty-two.

| [ I, 4 and 2 are the numbers found

What is the
place value
of I, 4 and 27
142
| hundreds 4 tens 2 ones
The place value of | is hundreds. [hundreds | tens | ones
The place value of 4 is tens. I 4 2

The place value of 2 is ones.

2 State the place value of 3, 6 and 0 in| 360 .

The place value of 3 is hundreds,

6 is tens, and 0 is ones.

hundreds | tens

ones

hundreds tens ones

6

0

\e‘g@' 5‘65 e Guide pupils to understand the place value using counters, base blocks,
&Qy@ $O‘ counting frames, and place value charts.

e Emphasise that place value is the position of digits in a number.

1.4.1




There are digits

5,7 and 9 in 579. The The
digit value digit value
V of 5 is 500. of 7 is 70.
579
The
digit value
500 70 q of 9is 9.

4 Whatis the digit value of 8, 3 and | in 8317

8 3 | — Thedigitvalueof lis|.

I
The digit value of 3 is 30.

all
all
M

The digit value of 8 is 800.

831is 800 + 30 + I.
800 Ses

83|
30 |

& 0 various numbers to test pupils’ understanding.
|4 A ° q Aepl a A Q -
Explain that digit value is a value of a number according fo its position

c,\’él’je% e Carry out a question and answer activity about digit value by providing |4
in that particular number.




5 Say the place value and F

q07/ digit value of 9, 0 and 7.
Digit q 0 7
Place value hundreds tens ones
Digit value 900 0 7

Digit 9 is in hundreds place and the value is 900.
Digit O is in tens place and the value is 0.

Digit 7isin[ Jplace and the value s}

Form a three digit number:
@ the largest @) the smallest
m from the number cards. State
the place value and digit value
of each number.

Write the place value and digit value for the underlined digits.

Number Place value Digit value
450 | )| )
612 ( J| ( )
793 ( J| ( )
802 |( J| ( )

\95"9: 5‘6‘5 e Emphasise that the value for a number is determined based on its digit |4
Qy@ $O‘ value and place value.
A ¢ Provide more questions in question cards or worksheets. |5




Partition 182.,

I
hundreds 100

8 tens 80

2 ones 182 2

Partition based

on place value 182 | hundreds + 8 tens + 2 ones

Partition based
182 100+80+2

on digit value
2
Try to
complete
hundreds + tens + this.

+ +
<X S 5 e Guide pupils to partition the numbers according fo its place value or 1.4.2
%?\09‘\40«’ digit value. o
|6 A e Carry out a game using number cards and partition cards for pupils’

understanding.




3 Partition 640. 6

600 hundreds
N /
40 Digit ~ Place
~— Value 640 Value 4 tens
Ve
0 N
~ 0 ones
640 ++@ 640 (6 hundreds+4 tens|+(0 ones]
Can you ;%ar’ri’rion
703 ?
703 (3 ones)+(7 hundreds|+(0 tens] S
/03 3+ 700 y/d

Partition these numbers.

® 297 2hundreds+9(  J+7( )
O 605 [ J+otens+[ ]
© 814 800+ )+ ]

@ 930 :]+ 30+:]

\e‘g@' 5‘6‘5 e Emphasise the method of writing the place value and digit value 1.4.2
Q,vxc' V\O‘ correctly.
A er 17

e The digit value 0 is not necessarily written when partitioning the numb
to digit value.




' E is 256 oh‘oge’rher.]

It is 356 altogether.
I have 100 more.

Determine which number is larger, 256 or 356.

|

200 A

Firstly, look at the 300 is 100 more
hundreds value. than 200.

is larger than .

356 is larger than 256.

N
18 <& e Emphasise to pupils to compare the numbers starting from the

<& e Carry out an activity of comparing two numbers using counters 1.1.2 (iii
?\Ca Oﬁ’s or other suitable objects. i)
largest place value.




2 Which number is smaller?

" Hundreds ) hundreds tens ones
value is the
same. Tens
value is also
the same. ;
%/_/ -
g
F
(/]
I 3
&
&
&
&
&
I 5

5 is smaller than 8.
415 is smaller than 418.

hundreds tens ones hundreds tens ones

The ones
value is not
the same.

W

:

hich number is
smaller? Explain.

e Emphasise that the larger number represents a larger value.
e Provide various numbers in an activity of comparing numbers
to strengthen pupils’ understanding.

Qo
W g5
«Q,\"c' v\oﬁe

-

I.1.2 (iii)



3  Which number is more,

856 or 8467
hundreds| tens | ones T
8 5 6 [
8 4 6

he hundreds is the somejx

Compare the tens.

5 tens is more than 4 tens.

856 is more than 846.

4 Compare 457 with 97.

hundreds| tens | ones
4 5 7
q 7

fnl

@S
Q,?‘C\k\ioﬁs
20 ~

5

97 is larger
than 457.

Is it correct?
Discuss.

Form two numbers of three digits.

o)l The largest digit is placed in tens.

Compare.

“less than” when comparing number values.

e Emphasise that a number with more digits has a larger value. 1.1.2 (i)
¢ Apply the words of “larger than”, “smaller than”, “more than”, and o




(&KW

g 97 § 920

Which number is less, 917 or 9207

< | | | | | »
b | | | o

q16 ql7 q18 q19 q20

917 is placed before 920. The more fo the
right, the greater
q17 is less than 920. the number.

Where are 703 and 718 located in the
following number line? Compare.

——t++—+—+++++++++—+t+—++—+t—
/00 705 710 715 720

0Wha’r is the number? Which number is larger?

hundreds tens ones hundreds tens ones

@ Determine the smaller number.
© 550 505 O 978 96

\(\?,QJ 5@6 . Provjde more questions in question cards or worksheets fo strengthen 1.1.2 {iii)
Qi) pupils’ understanding. 9
I




| RECYCLING PROGRAMME

206 170 160 215
Which class collected the most cans?

Arrange the numbers from
the smallest to the largest.

(160 ], (170 ). (206 ].[ 215 |

The number is getting larger.
This is an ascending order.

We can also arrange the numbers in a
descending order. The highest value is 215.

(215, (206 ).( 170 ],( 160 |

The number is getting smaller.
This is a descending order.

Year 2 Cerdik collected the most cans.

\)@?3 5\25 e Carry out games and simulation using number arrangement. 1.1.2 (iv)
Q}v\c' \AOX e Surf http://www.kidsfront.com/math/l.ascendorder|2.html
22 A o Surf hitp://www kidsfront.com/math/l.descendorderl2.html




2
Ascending
order
Descending
order m
3

[Discuss the number arrangements obovey‘

0 Arrange the numbers in ascending order.
(809 ] (920) (909 (816 ] [960]

2) What are the numbers? Arrange the numbers in
descending order.

e Carry out an activity of arranging number cards in ascending and 1.1.2 (iv)
descending order outside the classroom. o
e Emphasise that the ascending and descending orders follow a pattern. 23




1 O

rWe count on in\
200, 300, hundreds from
400, 500, = 200. Itis 600
600. altogether.
g J
N T T N
200 300 400 500 600

[Coun’r. What is the ’ro’rol?)>

24

o
&KW

7 TN T T
400 500 600 [ 2 |[ 2 |
T

[600, 610, 620, 630, 640, 650.

I count on in tens.

630

640

650

'S
(,\*’QX €5

picture cards, and abacus.

[ Carry out an activity of saying and counting numbers using objects,

J

1.3.1
1.3.2



3 Q Count on in fives.

100

105

@ Count on in sixes.

10 15

400 406 ? 418 &
@ Count on in eights.
< | | | | | >
R | | | | [ g
700 708 | 716 | 724 | 732 [ ? |[ ? |
N I
We count back}
N ONES. The numbers are
reduced in ones.
RO 6 e Carry out an activity of counting and completing a number series 13
«@?\C(\ V\O'KV" using picture cards, number cards, and number lines. Provide various |:3:2

number sequences such as ascending or descending in ones, twos,
threes, fours, sevens, and nines.

25



518 418 318 218

[Coun’r back in hundreds(

6 @ Countbackin twos.

168 | 166 | 164 160 | 158

(® Count back in sixes.

<« | | | | | | >
D | | | | | o

| |
290 302 || 308 | 3I4 || 320 326
AL N N U U

@ Count back in sevens.

<« | | | | | | >
- | | | o

686 || 693 | 700 || 707 || 714 | 72

"
26 N descending orders. Provide a few sets of number cards to perform

‘é@?‘,s G e Carry out a game outside the classroom. Each pupil has five 13
Y \40“" number cards. Ask them to arrange the numbers in ascending and |'3'2
this activity.




845
837

329

32|
8l3

404 408

211

205 401 411

202
199
196

46 420

Say the missing
numbers.

&
e
,\Q,\"C' Y

picture. Conduct a question and answer session with pupils about

15?,5 e Carry out an activity of counting and completing the numbers in the
<
number arrangements, in ascending or descending order.

431 44

1.3.1
1.3.2 27



|1 Count the numbers. Say whether the following
number sets are in ascending or descending order.

© 222 224 226 | 228 230 @ 232
(O 438 428 418 | 408 | 398 | 388

@ 635 640 645 | 650 @ 655 | 660
¢ 4970 870 770 @ 670 | 570 @ 470

2 Complete these.

927 928 929

q20
909 ql q13 q17
906 906
900
892 902 qI2
897 812
712
28 &Q,?\C’ v completing number sequences. 1.3.2

\e‘g?: 6‘65  Provide more questions in question cards or worksheets involving 131
o' counting numbers in ones until tens and hundreds and also




There is about
half a container
of keropok lekor

left.

200

Estimate the keropok lekor in the container.
I estimate it is
less than 200.

I estimate it is
/ more than 100.

<X S e Guide pupils to do estimation according to the given reference set. 151
¥ (€S ' ; - e ,, = ,, .
& V\O Train pupils to use “about”, “less than”, and “more than” when
A comparing.

e “Approximately” can also be used instead of “about”.




2 Estimate the numbers in the pictures.

©

50 about 100

The
number is
less than
100.

100 ?

50 ?

\e@ﬂl’ 525 ¢ Guide pupils to make a reasonable estimation on the number 151
PO 0" of objects. e
30 A » Emphasise that estimation is a process of determining the nearest

value, not random guesses.




about 400 coins of 50 sen. money box
has about 200
/ coins of 50 sen.

/

3 {The green money box hos} The yellow

Discuss the estimated
number of 50 sen coins
in the red money box.

rr

Estimate the number. Use the terms “about”, “less than”
or “ more than”.

© b

10 ? 100 ?
\(\g@' 525 e Provide more activities on estimation using objects or picture cards 151
Q,?‘C’ V\O‘ to strengthen pupils’ understanding. o
A o Surf https://www.ixl.com/math/grade-2/estimate-to-the-nearest-ten 3l




@ Round off 232 to the nearest fen.

230 232 235 240

232 is nearer to 230.
232 when rounded off to the nearest ten becomes 230.

(® Round off 237 to the nearest ten.

»
>

230 235 237 240

237 is nearer to 240.
237 when rounded off fo the nearest ten becomes .

What will happen if the
bicycle is at 235?

\)@ G e Emphasise that pupils need to look at the tens and ones digits to round 16
39 c' O“" off three digit numbers to the nearest ten. o

e Carry out simulation of rounding off numbers to the nearest ten using
base blocks.




Round off 465 to the nearest ten.
Method |

460 465

465 is in the middle of 460 and 470.

Method 2
4 6(5) mupp 4 7 0

If the ones digits are 5,
6, 7, 8 or 9, round it off to
the nearest larger ten.

465 when rounded off to the
nearest ten becomes 470.

3

o)
(&KW

Round off 734 to the nearest hundred.
734
®

<] I I I I | I I I
<t

| ! ! ! ! | ! ! !
700 730 750

734 is nearer to 700.

734 when rounded off to the nearest hundred

becomes 700.

round off the number to the nearest larger ten.

e Surf http://www.k5learning.com/worksheets/math/grade-2-round-
3-digit-numbers-nearest-10-a.pdf and http://www.k5learning.com/
worksheets/math/grade-2-round-3-digit-numbers-nearest-100-a.pdf

o ‘9\99:;3‘65 [ Emphasise that if the number is in the middle of two tens successively

K

33



4 Round off 859 to the nearest hundred.

Method |
859
Gttt
800 850 860 900
859 is nearer to 900.
Method 2

8(5)9 == q 00

If the tens digit is 5, 6, 7,
8 or 9, round it off to the
nearest larger hundred.

859 when rounded off to the
nearest hundred becomes 900.

5 Look at the number line. Which numbers become 360
when rounded off to the nearest ten?

| | | | | | | | | | |
| [ [ [ [ | [ [ [ [ | I

350 351 352 353 354 355 356 357 358 359 360

Numbers that become 360
when rounded off to the nearest ten
are 355, 356, 357, 358 and 359.

RO . e Emphasise that pupils need to observe the hundreds and tens digits 161
o o'® to round off three digit numbers to the nearest hundred. e

©
34 <& w e Provide exercises using various numbers to strengthen pupils’
understanding.




[ > = o
6 «f oo
550 560 570 580 590 600 610 620 630 640 650

550 to 599 and 60l to 649 when
rounded off to the nearest hundred become 600.

Round off the numbers
257 can become to the nearest hundred.

260 or 300 when it is O 22 O 58
rounded off. Explain.
© 655 @ 907

Materials/ coins, a container filled
Resources  with numbers, paper, pen

Participants 2 players and a referee

Method

| Pick a number.

2 Toss a coin. If it is heads, round off | Heads| | Tails
the number to the nearest ten. If it is tails, round
off the number to the nearest hundred.

3 The referee will record 2 points for every correct answer.

4 The player with the highest points wins.

A
Relate the importance of rounding off in daily life such as rounding off

?,9:5 e Emphasise that when rounding off numbers to the nearest ten, the

?\Ce‘ Oﬂﬁs rounded off value is in multiples of ten. When rounding off numbers to 6.1

&KW the nearest hundred, the rounded off value is in multiples of hundred. 3 5

[ ]
the price of goods and services.




I count on
| in ones.

99 100 0] 102 103

What is the number pattern above?

99100 101 102 103 | (s aanag

increasingly in
ones.

The number pattern is increasing in ones.

2
118 120 122 124 126
The number pattern is increasing in twos.
' ———
3 [ What is this number pattern? |
316 516
216 416
(30 \ei?éi’es o ﬁaggge:l:; ?ezzn;ggrh%zfgi;ré 2i.muloﬁon by counting objects in the class 171

36 A e Guide pupils to state the number patterns.




4 The numbers

242 241 240 239 238 are arranged

decreasingly
in ones.

The number pattern is decreasing in ones.

635 535 435 335 235

The number pattern is I

~—
R

7 ?Ik about the number po’r’rerns.]

©
O

\(\g@' 5\,‘5 e Guide pupils to recognise decreasing number patterns based on 171
Q/\xc' V\O" several number series. Relate them to counting back in ones to tens
A and hundreds. 37




8 Q [ The number pattern is increasing in tens. }>

<] | | | .
Il | I | I |

170 180 190 ? ?

(b

%This number pattern is increasing in ’rhrees.]

< | | | >
I | | 1 1 o

216 219 222 ? ?

G { This is a descending order. So, its number}>

pattern is decreasing in hundreds.

589 489 389 289 189 ?

What is the next number in
the number pattern above?

Arrange these numbers to form a pattern.

555 Ms0We7>5sol 670 e %

<& S e Emphasise that number patterns are related to number arrangements | 7.2
o in ascending and descending orders d hundred &
&N in ascending and descending orders in ones to tens and hundreds.
38 A e Carry out an activity of completing number patterns based on the

given number lines and number strips.




I Complete the following number patterns.

®© 00 103 | 106 | 109 15

O ) 465 | 365 [ 265 | 165 | 65

O -i = = = = —
783 789 795 807

2 Look at the number grid. The number pattern in the
blue boxes is increasing in threes. State five numbers
for the patterns below.

201 202 203 204 205 206 207 208 209 210
21 212 213 214 215 216 217 218 219 220
22| 222 223 224 225 226 227 228 229 230
23| 232 233 234 235 236 237 238 239 240
241 242 243 244 245 246 247 248 249 250
251 252 253 254 255 256 257 258 259 260
261 262 263 264 265 266 267 268 269 270
271 272 273 274 275 276 277 278 279 280
28| 282 283 284 285 286 287 288 289 290
291 292 293 294 295 296 297 298 299 300

@ Increasing number patterns:
in twos. <i>in fives. <> in eights.

(b Decreasing number patterns:
in fours. @in sixes. @in sevens.

‘85"9: 525 ¢ Provide more questions in worksheets and question cards. 171
&Qy@ $O‘ e Surf www.fuelthebrain.com/games/line-dry/

1.7.2 39




|
Izah has three number
cards as above. She puts 7
in hundreds, 4 in ones, and
another card in tens. What

is the number? Write the
answer in words.

Method
Arrange the (hundreds | tens ones
numbers
according —
to the place
value. \

The number is seven hundred and four.
Round off 704 to the nearest
hundred. Discuss.

e Guide pupils to understand the question by jotting down important 181

information.
e Provide more questions in worksheets and question cards
to strengthen pupils’ understanding.

)
W es
,\QF‘C’ Wt

40




2 The picture shows the
number of books read
by the three pupils.
Who is the winner?

BeeYee Lim  Wong
248 268 246

Method | Determine the largest number.

Llwuse bIocks.]

—————

k.

The largest number is 268

‘‘‘‘‘‘‘

Method 2 Arrange the numbers in ascending order.

246 , 248 ., 268 - 268isthe |
N = number of
, books read

The largest number is 268 by Lim.

The winner is Lim.

\(\gﬂl' 525 ¢ Guide pupils to underline the important information in the question 181
lexc' Qo' to solve them.
A e Guide pupils to check their answers through simulation. 4]




3 The picture shows the marks obtained by 2 pupils in a

quiz. Bala’s mark is not shown.

Bala scored 10 marks less than Gana and 10 marks

more than Rani. What is Bala’s mark?

Method
Draw a number line.
IOmore>
+ 10
T
—
438 L48 458
\_/

< 10 less

Bala’s mark is 448.

R\
,\QF‘C’ Wt

?5’:5 e Guide pupils to solve the problem using a number line.
42

K




Solve the problems.

|» Davin uses a calculator. He presses the numbers 6, 0
and 9. State the number in words.

2. Siti arranged all the cards shown.
She formed the largest number.
What is the number?

3!! Look at the table of Mathematics quiz marks.
Mathematics Quiz

Name | Marks | @) Arrange the marks in
ascending order.
Zaki 780
Zana 810 @ Who is the winner?

Reeya 800 . ,
Daren 290 @ What is the number pattern:

41 The following are the guesses of 5 participants.
Chocolate
The Chocolate Guessing Contest T

Yi Han | Faris | Radin | Punita | Silva
552 524 538 525 510

Who is the winner if the total number of
chocolates is 5307

e Emphasise that zero cannot be placed in front of a number because it

‘85"9: 525 ¢ Encourage pupils to do exercises involving number skills by surfing 181

Qy\c’ $O‘ https://www.ixl.com/search?q=number+up+to+1000 43

A
has no value. For example, 019.




<O WW@@@M

&» . Number Song
)

| 34,
Let’s sing a song. ]

Let’s learn my dear friends

The story of numbers

There are hundreds, tens, and ones
Hundreds number has three digits

Arrange numbers in two ways

Ascending order makes numbers larger
Descending order makes numbers smaller
Easy learning, we are all happy!

Now it is the time to round off
If it is the tens which is asked
Look at the value of the ones
If it is less than 5

So zero it will be

Now we are rounding offto hundreds
It is the hundreds which is asked
Look at the value of the tens

If it is 5 or more

Add | to the hundreds value

)
R g«ej
c J

1.1.2 (iv)
g‘?‘?’v:<5€5 [ Sing the song to the melody of Rasa Sayang. Prepare number cards} [.2.1

& N0 and place value cards to be used by pupils while singing. | 4|
44 A e Discuss other skills, such as place value, digit value, and counting 161
numbers indirectly.




ADDITION, SUBTRACTION,
MULTIPLICATION, AND DIVISION®

I add
another
50 pieces.

There
are 60
pieces.

Mother, let’s buy
8 pieces of curry puffs.

Each row has

[Le’r’s eat together. Each of us}
3 people.

eats 2 pieces of curry puffs.

e

?,9:5 o Ask pupils to tell stories based on the pictures. Relate them to 2.1
?\C(\ V\O‘Y‘\"ﬁ’ addition, subtraction, multiplication, and division operations. 2.2
<& For example, add 50 pieces and 60 pieces of curry puffs. %2 45

o Surf http://www.k5learning.com/free-math-worksheets/
second-grade-2/addition/adding-3-digit-and-I-digit-numbers




DOUGHNUTS ORDER

( durian
6 50 100
pieces pieces pieces
= = e

| Total the number of apple and chocolate doughnuts.

20+6=(_ )

+1 1 1 +1 +1 +| Count on
VA VA VA VA Vi Vi \ 6 Sfeps_

120 121 122|123 | 124 1125|126

120+ 6 = (126 )

The total number of apple and chocolate doughnuts
is 126 pieces.

2 How many and 3 Add 120 and 100.
doughnuts are
there altogether?

120+50=( ] -

120
+10+10+10+10 +10
P Vi Vi Vi V' What is the
120(130(140/150(160 170 answer?

120 + 50 = 170 |

9\1’5 G ¢ Guide pupils to add without regrouping. Instead, use base blocks,
Q,?\C\)‘\Aoi“’" hundreds square, and others. 2.1.1
A

46

e Surf http://www.k5learning.com/free-math-worksheets/second-
grade-2/addition/adding-whole-tens-to-2-digit-number




L Storybook Donation

Class 2 Amanah | 2 Bakii 2 Jaya
Quantity K] 62 107

@ Total the storybooks donated by 2 Amanah and 2 Bakti.

131 + 62 =
Method | Method 2
hundreds tens ones
I 3 I
+ 0 6 2
hundreds tens ones | 9 3
Method 3 + 60 49

The total donation is 193.

O

hundreds tens ones [ Ani calculates )
6 ) the donation by
2 Bakti and
+ | 0 / 2 Jaya. Isit
7 2 7 . correct? Discuss. )

@)

?\
<& W e Surf http://www.k5learning.com/free-math-worksheets/second-
grade-2/addition/add-3-digit-numbers-in-columns-no-regrouping

47

\9\99:5 < ¢ Emphasise the importance of placing digits at the correct place value.
o'© e Guide pupils to add, starting from ones, followed by tens, then hundreds. 2.1.1




5 Add 134 and 225.

48

34 +225= ]

{Use the vertical form.]

What is the number in the D?

348
(8)
216 + (132 )= 348

The numberinthe Jis 132,

O+ = 269
Choose one number
in ). Choose another 32~ 7166

number in . \@9/
The total number is 269.

‘9\9?:5 G * Provide more activities that involve mental calculation.
&Q,?‘c \40«' ¢ Do a quick calculation quiz. y 2.1.1

126~ 52

o Surf http://www.k5learning.com/free-math-worksheets/first-grade
addition/add-two-2-digit-numbers-in-columns-no-regrouping




7 @103+16=_ ]

10 3
+ 16
|1 9
Up 103. Add 16, The
up I tensand  answer is
up 6 ones. 119.

03 + 16 =( 119 )
O 236+12=]

Add 112.
L Up | hundreds,
+ 112 up | tens.
346 Lower beads

are not
enough to up
2 ones.

T Little friend

EET |- of 2is 3.
PR 2 < 5 S0,
up 5
The answer 5 3 down 3.
is 346.

234 + 112 =

‘(\?'9:5\35 * Train pupils'to qdd using abacus by finding “little friend”, which
Q,\,\c V\OX is the combination of 5. 2.1.1
< 49

e Refer to the abacus module to guide pupils to use the abacus
correctly.




621 +334=( )
© Add 334. Up

621 3 hundreds.
+ 334 IWE T = F Lower beads
£ 1l -
955 > 4 9 4 are not

Up 621. enough to up
3 tens and
4 ones.
5 Tens:
/\ Up5
x - )
EES « S2Z|3% 2 dwn2
5 Ones:
Thg aqn555wer N\ Up5,
1S 799. 4 1 down .

]
]
)

@ 300+400=( ] @ 200+150= |

2. Complete these.
® 3306 ® 65 O I
+ (O + 000 +93 1
326 4749 985

QO e Explain to pupils that addition can be solved using subtraction to find
€5 the unknowns. 2.1.1

\2
ot 0O
&KW

50




. .

Calculate the total

number of ice cream. hundreds tens ones
39+8= | -

_ | 39
RERERAEEEE 'H &) \
,,,,,,,,,, <- ig %E + p 8
EEEENEEEEN : % :-@_' ':I:'7

T I
. A
. 56 ) |
~ I 3 q
- + 0 0 8
5]
6 I 4 7
qdones + 8ones=170ones |tens + 3 tens
|7 ones = | tens + 7ones + 0 tens = 4 tens
|
| hundreds + 0 hundreds 139
= | hundreds + 8
| 47

139 + 8 = (147 |

The total number of ice cream is 147.

(,,9:5 < e Guide pupils to regroup numbers starting from ones to tens.
?\C‘\V\oﬂ‘a Emphasise that when the total digit of ones becomes 10 or more, 2.1
<& carry out regrouping. 5]




2 Total 409 and 6.

+ 1)+ (+ )+ =+l
Y Vi Vi Vi Vi Vi

4091410 [ 411 | 412 1 413 | 414 | 415

Method 2
409+ 6 = 1409 +/6=
\I ) 405 A4
409 + | =410 6+4=10
410+5=415 405 + 10 = 415
Method 3
| 5=
4049 Try to solve this. %Q(b
+ 6 Choose any of
415 the methods.

N
409 + 6 = (415 |

52

o Surf http://www.mathinenglish.com/worksheetview.php?id=54&stid

\egjl’ 525 e Guide pupils to add using a variety of aids such as base blocks,

NON(e) counting frames, and abacus. 2.1.1

&L&OW
=40025




3 Add 82 and 145.
82 + 145 =

hundreds tens ones

T IHEEEE] ) T8 2
EEEE%%E + I \\“‘4 5
98888, ¢ 2 7
EEE 2 ones + 5 ones =7 ones
i : 8 tens + 4 tens
o g = 12 tens
: = | hundreds + 2 tens
W0 T g )
|
5 0 8 2
9 + I 4 5
— 2 2 B
| hundreds + 0 hundreds
+ | hundreds = 2 hundreds
|
8 2
+ | 45
82 + 145 = | 227
BB + (227
Y
answer? ﬂ
Explain. ) 4119

WY les
&0
< 40025

«o e Guide pupils to add using regrouping from tens to hundreds.
e Surf http://www.mathinenglish.com/worksheetview.php?id=49&stid= 2.1 53




L4 267 + 358 =

F )
""" 37 hundreds tens ones
18 g
19 9!
CH >
|g: : 2 6 \\‘ 7
G| o s e
G|§J IL\
|5

N
Tor on—
oo

+
w

(=
)
&y

N O O~—
oo

||
267
+358

o 625
o S —
@
(7]
5
< ¢ Provide question cards or worksheets on adding two numbers
$0‘€ involving regrouping. 2.1.1

54 o Surf http://www.mathinenglish.com/worksheetview.php?id =55&stid
=40025




5 384+199= |

Method |
- Use the
384 vertical form.
+ 199

583

Method 2

384 = 300 + 80 + 4
199 = 100 + 90 + 9

400 + 170 + 13

400/+|100|+|70|+[10}+(3|= 583

Method 3
_ 199 add | equals
384 + 199 = D 200. 384 minus |
l— | l+ | equals 383.

383 + 200 = 583

384 + 199 =

<X S < e Guide pupils to add using various methods such as partial method and
?\Ce‘ $O‘€ partition, or other suitable ones. 2.1
<& e Surf https://www.ixl.com/math/grade-2/addition-with-three-digit-numbers

55



6 @ 756+28=_ )

Add 28.

Up 2 tens.
Lower beads
are not enough
to up 8 ones.

Big friend
of 8is 2.
10 So, down

/\. 2ones

The answer 8 2 andcarry
is 782. | tens.

754 + 28

"
i
oo
N

Add 92.

Lower beads
are not enough
to up 9 tens.

Big friend
of qis I.
10 So, down

/\. |tens

9 | andcarry
The answer | hundreds.

is 963. Up 2 ones.

871 + 92 = (963

?y:S e Train pupils to add using abacus by finding “big friend”, which is a
Qy\c\" \Aoi\"fs combination of 10. Ask them to list the combination of 10. 2.1
B\

56




The total of which two numbers is nearest to | 0007?

485) 437) SOU |4‘70'

(2) Complete these.
O 503 O (020
+(J2(0) + 4(J7
q0 | 1000

@5 +199= ]
O )=67+618

@ Find the total of two numbers on the same
colour cards.

@los @ 53

(,,955 < ¢ Provide more group work using question cards or worksheets
QJ\,@\* V\O'(V" to vary the questions based on the levels of difficulty. 2.1.1
< 57

o Surf https://www.ixl.com/math/grade-2/complete-the-addition-
sentence-up-to-three-digits




56 |03 220

Adi
! 60 100

Su Lin
What is Adi’s total score?

56 + 103 + 220 = D Add two numbers

first. Then, add the
Method | answer with the

56 | 59 other number.
+I03[220
| 59 379

Method 2
Add all numbers
together.

NN O O
QI O wo

56 + 103 + 220 =
Adi’s total score is 379.

Su Lin’s total score is the same as Adi’s.
What is the score for the blue skittle?

@
e
58 <& » e Surf http://www.mathinenglish.com/worksheetview.php?id

\)@?3565 e Guide pupils to add using various methods. Discuss the common
o' mistakes such as not placing the number at the correct place value. 212
=528&stid=40020




Carp Tilapia
213 L g7
How many fish are there Catfish
altogether? 145
213 + 145 + 37 =
> | [Moke IOfirs'fj>
| 4 5 >IO
+ 3
3 9 5

There are 395 fish altogether.

3 Total up 473, 98 and 318.

473 +98 + 318 =
|

|
4 7 3 Add the same
q I 6 two digits first.
+ 3 | |8
8 8 9
473 + 98 + 318 = [ 889 |

Qo e Guide pupils to add complement of 10 or add the same two numbers
0‘9\90165 first. PP P 212
< W
< 59

o Surf http://www.mathinenglish.com/worksheetview.php?id=5I&stid=
40020




4 Floria Florist

Rose Sunflower Orchid
312 237 88

| =312 + 237 + 88

Method |
| | .
First, add 312
312 400 and 88. Then,
+ 88 +237 add 237
400 637

637 | = 312 + 237 + 88

: Example
Find the numbers @ ‘ |
between 101 to 107. | 0|
The total number 1 04
of each straight line ‘ @ ‘ +107
is 312. @ @ 312

\1 e Guide pupils to find the unknown value using mental calculation.
\@x@ 2.1.2
60




Materials/Resources number cards | to 9

HH A E I = B B KR
Method R

| Arrange the
number cards
according to the *
assigned colours.

(o)

G

8
+ [E I KR
7 4

. HHH
HE

2 Change the arrangement of
numbers within the I, IE3 and
K<l groups. What do you find?

3 Write five number sentences
for the same total.

Find the total.
® o ® 230 O 624
116 54 108
+23 | +105 +195

.
.

L

© 73+420+105 = ] @O [ )=214+ 485+ 300
O 18+27+364= @ ([ |=453+299 + 147

¢ Guide pupils to explore number addition through activities such as
$ON‘35 Let’s Explore to strengthen their understanding. 2.1.2
6l




There were 150 balloons.
40 balloons were given away to
he children.

How many balloons are left?
_ Count back

110120{130|140|150
WW

-10-10-10 -

150 — 40 = -

There are 110 balloons left.

I

2 Ice creams  What is the difference between the
corn ice cream and the vanilla ice cream?

300-200=(
100 [ 100 ]| 100 |
100 ] 100 |
300 - 200 = (100 |

The difference is 100.

Corn Vanilla

@ @

\)@v: 5\25 ¢ Guide pupils to subtract without regrouping using number lines and 29|
Qy\c' \AOX hundred squares.
62 A o Surf http://www k5learning.com/free-math-worksheets/second-
grade-2/subtraction/subtract-whole-tens-from-hundreds




I sold 32 from
285 tickets.

How many tickets
have not been sold?

285 -32 =
Method | AN
i —
hundreds tens ones hundreds tens ones
Method 2 (hundreds| tens ones |
%%%%%@g -
Method 3 Subtract ones.
5 ones - 2 ones
hundreds tens ones 3 ones 285
Subtract tens. - 32
2 8 S} 8 tens — 3 tens 253
- 0 3 2 = 5 tens
2 5 3  Subtract hundreds.
2 hundreds — 0 hundreds
= 2 hundreds

285 - 32 =253 |

The number of unsold tickets is 253 pieces.

‘9\?’9: 5‘65 ¢ Guide pupils to subtract using various methods such as using counters 29
Q,vxc’ $O‘ and drawing diagrams.
< 63

o Surf http://www.k5learning.com/free-math-worksheets/second-
grade-2/subtraction/subtract-whole-tens-from-3-digit-numbers




Who’r is the 349 — 916 = D

difference
349 216 between these
two numbers?

3449
-216
| 3 3

349 - 216 =

5 Subtract 317 from 438.

438 - 317 = D <[Who'r is ’rhej

?
L 3 8 answer*
-3 1 7

O]

Method | Method 2
-(3)3](6] @B ®3B -453
4 5 3 336

789 - = 453

e Guide pupils to complete the number sentence involving the unknowns 291
\40“"5 using smaller number simulation. -
64 )

e Encourage pupils to check the answers using addition.
o Surf http://www.k5learning.com/free-math-worksheets/second-grade-2
subtraction/subtract-3-digit-numbers-no-regrouping




Subtract 41.
Down 4 tens. Lower
beads are not enough.
Little friend of 4 is |.

/\ So, up |

| and down 5.
The answer is 222. DOWF\ | ones.

263 - 4| =(222 )

| Subtract.

© 352 O

]

2 What are the
numbers in the
blue circles?

< e Guide pupils to subtract using the abacus involving “little friend”. 29
$O«’ e Surf the Internet to obtain an abacus module that shows examples of o
subtraction in detail 65




| Calculate the balance of 173 minus 39.

73-39=(_ )

hundreds tens ones
6 13
I A 3

[ ERE

J

aaa

- J

3 ones cannot subtract 9 ones.
Change | tens to 10 ones.
3 ones + |0 ones = I3 ones

v

Dy 6 13
CN 4 | Vs ,3’
s#s| -0 3 9
\ 777 ) I ; 4
Subtract ones. Subtracttens.  Subtract hundreds.
13 ones — 9 ones 6 tens — 3tens | hundreds
= 4 ones = 3 tens — 0 hundreds
= | hundreds
6 13
| 73
- 39
| 3 4

173 - 39 =( 134 |

& . e Guide pupils to subtract by regrouping tens to ones. Emphasise that if
?\Ce‘ \40‘?’ the digit in ones is not enough, regroup tens to ones.
66 <& e Surf http://www.k5learning.com/free-math-worksheets/second-
grade-2/subtraction/subtract-3-digit-numbers-with-regrouping

221




2 Subtract 185 from 346.

346 - 185=_ |

% hundreds tens ones
.4
B
3 4 6
\ - I 8 5
Subtract ones. I
6 ones — 5 ones = | ones
2 |4
“ 3 4 6
. ) - I 3 5
Change | hundreds to 10 tens. I
4 tens + 10 tens = |4 tens
3 4 6
- I 3 5
I 6 I
Subtract tens. 2 1
Subtract hundreds. 3 H 6
- 185
| 6 |
346 — 185 = —
[ }
A o Surf http://www.mathworksheetsskids.com/Subtraction/3digit-1.pdf 67




3 200-153=( ]

hundreds tens ones

| 10
2 0 0
— I 5 3
q
| 0610
2 0 0
L - I 5 3
57
8 & q
r | 0 10
2 0 0
- I 5 3
0 4 7/
q
<(Whg isOin hundredsj IZ Ig g
not written?
- 153
47

200 - 153 =

o 9@9‘?@5 ¢ Guide pupils to subtract by regrouping hundreds to tens and tens to 29
¢ ones.

e
68 N e Encourage pupils to check their answers with addition.
e Surf https://www.youtube.com/watch?v=Y6M89-61061




4 q34-218=(_ |

Method |
2 14
93 4
- 218
716
( I partition )
Method 2 the numbers.
' Then,
20 14 subftract.
934 — 900 30 4 Finally, I total
218 — — 200 10 8 \’rhe answers.
700 10 6 —716
Method 3 934 — 218 = D
Add 2 to 218 to
[ make it 220. j7 14’ 2 lJ’ 2
Also, add 2 to 934. 936 — 220 =
936
- 220
716

934 - 218 =

\e&,\r 5‘65 e Train pupils to subtract using various methods to strengthen their 29
<<,\"C’ $o‘ understanding. Provide a variety of questions such as the example
< 69
s

shown above.
o Surf hitps://www.ixl.com/math/grade-2/subtract-three-digit-number




5 932-( ]=578
Find the number in the D

Method | |, Method 2 12
8 7 12 8 Z12
g 3 7 93 2
—(3) (5) (&) -578
c 7 g 354

932 - = 578

6 ( )-406=53

Method | Method 2
(q) 53 |

— 4 0 @ R R + 406
5 3 937
037 — 406 = 53|

. Fill in the white boxes
with the digits shown
above to get the answer
with the smallest value. il

e Guide pupils to complete the number sentence involving unknowns 29
\40«' using hundred squares and base blocks. o
70 e Surf hitp://www .k5learning.com/free-math-worksheets/second-
9

grade-2/subtraction/subtract-3-digit-missing-numbers-no-regroupin




Subtract 584.

Down 5 hundreds.
Down 8 tens, lower
beads are not enough.

(((H
4
[

Big friend of 8 is 2.

Big friend of 4 is 6. 10 So, remove | hundreds.
|0 So, remove | tens. /\ Up 2tens.
/\ Up 6 ones. 8 2 Down 4 ones, there
4 16 is no lower bead.
867-172=( |
= f T Try to calculate
]l & & using the abacus.

The answer is 326.

910 - 584 =(326 )

\(\g‘l‘ 5?,5 e Train pupils to subtract using the abacus involving “big friend”. 29]
S
< 71




Find the values of and Q

6 0
-2 (O 7
3 8§ 3
| Subtract.
© 342 O 657 O 503
- 16 480 _ 29

g9 =900-315 @) 509 - =72

2. Correct the answers.
® 300 ®© 651 O 704
- | 8 -2749 - 83
2 9 2 4 2 8 6 8 |

3! ) Subtract 98 from 800.
(® What is the difference between 115 and 204?

. ‘9&";?65 * Provide more questions in question cards or worksheets. 22
& W
72~




ﬂ 60

There are 289 105
durians altogether.

How many durians are left?

289-60-105=_ |

Method | Then,
First, subtract 60 subtract 105.
from 289. \
2 8 q 2 2 q
- 6 0 / I 0 5
2 2 q | 2 4
Method 2 7)

q Try to subtract this.
5 Is the answer the same?

000 ~

289 - 60-105=[ 124

There are durians left.

\{c‘r 525 ¢ Guide pupils to carry out repeated subtraction simulation activities 2929
«Qy@ Qo' using base blocks.

73

o Surf http://www.math-salamanders.com/image-files/math-
worksheets-printable-column-subtraction-3-digits-3.gif




2 325—8|—33=| g |
- 2 |2
| ? : 3 2 5
p - 8 |
&
4
+ J
7
: (2 12 B
- 3 2 5
- 3 |
2 4 4
\_ J
A 4
- i )
s 2 4 4
- 3 3
2 | |
L J

325-81-33=2Il |
CTmm—

3 600-95-400=(_ ]
Subtract 400 from [Then, subtract qj—]
600 first. q

| W
6 0 0 2 0 0
4 0 o/ q 5
2 00 | 0 5
600 — 95 — 400 = (105 |

<& S [ Guide pupils to subtract by regrouping using counters, abacus, and } 299

S
Q}vxc'\e;O“" others.
74 A e Surf http://www.math-salamanders.com/image-files/math-
worksheets-for-2nd-grade-column-subtraction-3-digits-2.gifa




4 4CI8—32—2|=D

4 9 8
- 32
4 6 6
— 2 Up 498. Subtract 32.
T Down 3 tens.
b4S Down 2 ones.

Subtract 2I.
Down 2 tens, lower
beads are not enough.

Little friend of 2 is 3.

5 So,up3and
> 35 JPY P= P
e 2/\3 down 5.
The answer is 445. Down | ones.

498 - 32 - 2| =(445)

Calculate.

9365/DDD®q87/D%J?

- 2.4 - 53¢
)/ o) OOy OO0

O 820-123-167=( ] @ 537-86-371=__]

< ¢ Guide pupils to subtract repeatedly using various methods. Encourage 299
V\o“a them to use an abacus when subtracting. o
75

e Emphasise that the answer transferred for repeated subtraction must
be correct.




| Proton Perodua

Iz Bezza Indah Company sells

203 Proton Iriz cars and
84 Perodua Bezza cars.

203 + 84 = 287 The total sales is 287.
2

There are 300 grade A eggs
and 210 grade C eggs.
The difference between the

300 A number of grade A eggs and
300 - 210 = 90 grade Ceggsis( .

——

3 Hadi’s brother sells 342
grilled chickens. He also sells
269 fried chickens. The total
sales of the chicken is [j

E——

4 Thereare [ Jbooks on the

295 — 188 = 107 shelf. (] are storybooks.
The remaining 107 are novels.

76

Surf hitps://www.ixl.com/math/grade-2/subtraction-word-problems

\e&y\’ 525 ¢ Guide pupils to create stories using their own words. Carry out 25

&Qy@ \AOX activities in pairs. Accept any suitable stories.

[ ] -
up-to-three-digits




SO 5|8 — 246 — 137 = 135

There are 518 recycle bags. D bags are sent to
supermarket A. D bags are sent to supermarket B.
The number of bags left is D

Look at the pictures. Create a story of addition
and a story of subtraction.

185 A

(Il Complete the story.
Juara Company sold [: sport

shirts and [j school shirts. The
total number of shirts sold is D

34| + 189 = 530

@ Create stories for the number sentences.

(o} 416 — 123 = 293 (b} 104 + 120 + 135 = 359

(,,9:5 5 ¢ Guide pupils to create stories using their own words. Carry out 25|
Q,?‘C(\V\OXE activities in pairs. Accept any suitable stories. o
< 77




| This table shows the S Number
amount of biscuits Biscuits of tins -
donated by Neeta. Cheese 126 B
Calculate the total Chocolate 279

amount of biscuits.

Method 126 tins of cheese 279 tins of

~—biscuits —<— chocolate biscuits — = e
| | | Sty

Qg
(] 1‘Q

< Total >
26 +279 =)

) Draw a
+ 279 diagram.
405
126 + 279 = | 405

The total amount of biscuits is 405 tins.

2 Husin plucks 374 corn cobs. He sells 96 of them.

i 2
What is ’rbe balance” 374

\J

Method [ |

— 96 — > < Balance

374 -96 =| 278
The balance of the corn cobs is 278.

Ce@ X‘e . [- As!< pup'lls to understand questions by jotting down the important J 259
points given.

()
78 w e Train pupils to underline important points and write number
sentences based on the problems given.

Y



3 Kim’s father rears goats and cows.
He has 298 goats. The number of
cows is 54 more than the goats.
Calculate the number of cows.

Method 298
Goats 5h
f—A—\
Cows
?
298 + 54 =
|
2 98
+ 54
352
298 + 54 =

The number of cows is 352.

[ Look at the ]

Juli’s father rears 136 goats less diagram. Solve it

than Kim’s father. Calculate the
number of goats Juli’s father has. “

Kim’s father’s goats 298

Juli’s father’s goats | 136 ?

______________

?\
<& e Emphasise the steps taken to solve problems by identifying the given
information that is needed, choosing strategies, determining the

\e&,\r 5‘65 e Guide pupil_s to solve pr_oblems using simulation and check the 259

O $O‘ answers using subtraction.

79
operation, solving, and checking the answers.




Solve the problems.

i Amni has 122 rubber bands.
Divani has 176 rubber bands.
Calculate the total number of

rubber bands they have. /122 A

2 Farid has 199 keychains. He gave 18 keychains to Rizal.
Calculate the balance of Farid’s keychains.

30 The table shows the number
of participants in a gofong-royong.

Participants Number
Adults 306
Children 129

@ Calculate the total number of
participants.

() What is the difference between the number of
adults and children?

My height is

s 128 %em‘igme'rres. L am
3 cenfimetres
taller than Lisa.

Lisa Dina
Calculate Dina’s height.
%) ¢ Provide more practices to strengthen pupils’ understanding according
?\c‘é\:%<€5 to their abilities. 252
80 <& o Surf https://www.superteacherworksheets.com/addition-2-digit.html




There are 3 children.
Each child has 2 balloons.

3 groups of two

(2)+(2)+(2)= 6]

3 times 2 makes 6. 3 times 2 is
. . 3 multiplied
3 times 2 is equalto 6. by 2.
A V
Number A Total
~(3)x(2)=(6) mber
of groups I et
O1 ODJeClIs
Number of )
objects in each
group
== This is the number sen’rence.]
3x2=6
& S e Carry out simulation of grouping objects in the same amount fo construct a
o \AOXV’«S number sentence. Introduce the terms and symbols related to multiplication. 2.3.1
Emphasise that multiplication is repeated addition. 8i

o Surf https://www.ix.com/math/grade-2/relate-addition-and-multiplication-
for-equal-groups




2 I arranged these

. (1 )\
mooncakes in I arranged the
2 rows. Each row mooncakes in
has 4 mooncakes. — U4 rows. Each
row has
\2 mooncakes./

+4 +4 +2 +2 +2 +2
ﬁ I\_A/\ N N N TN
0 4 8 0O 2 4 6 8
2 times 4 makes 8. 4 times 2 makes 8.
2 multiplied by 4 4 multiplied by 2
is equal to 8. is equal to 8.

2x4=(8 ) 4x2=(8 ]

2 xb4isthesameas 4 x 2
[2x4=4x2]

Form a
number
sentence.

< )=(8])

?,Q;S e Guide pupils to do simulation that involves columns and rows
O 5TE° to show the commutative law ax b =b x a. 2.3.1
P 0
82 <& e Emphasise that the product will be the same even though

the position of the multiplied numbers change.
e Surf https://www.ixl.com/math/grade-2/count-equal-groups




3 Calculate the number of buttons in each group.

4 groups of five 5 groups of four
(5)+(5)+(5)+(5)=] (a)+(a)+(a])+(a)+(4)=(_]
4x5=(_ ] S5xu=( ]
4xD=5xO

Complete the number sentences.

il

() groups of | |

Dg;oués;f:]
0+0-0 Ty
A<= < )= <)

& ¢ Guide pupils to do a simulation of arranging groups of objects
o V\O‘?’S to show the multiplication operation that gives the same product. 2.3.1
/ 83

o Surf http://www.worksheetfun.com/Multiplication%20times%20table
addandmultiplysquarestwo_2.pdf




| x 2 = 2
| 2 times fable [Oh,Ihovez} 2% 9= &
an’re;noe! 3% 9= 6
4 x 2 = 8
5x 2 10
6 x 2 =12
/7 x 2 =D
8 x 2 =D
6 q x 2 =D
A e ey
— 4 6 8 10 12 |4 18
2 3times table | x 3= 3
%Mg bro’rher’s] 2x3= 06
bicycle has 3 x3= ¢
3 wheels. 4 x 3= |2
5x3 =15
6 x 3 =18
/] x 3 =
8 x(J= 24
()x 3 =27
[ What is the number for the fifth step? #@
/\/\/‘\/‘\/ )

O 1 23 45 6 7 89101112

& e Guide pupils to construct a 2 times table by counting in twos and 3
\)‘ o’“"s times table by counting in threes. 2.3.1

84 N




3 4times table

x 4 = 4 |38

x 4 = 8 EEES

x 4 = 12 [38]188]|e8

x 4 = |16 [ggllosl|8e] (88

x 4 = 20 |38)[38]|88]|88][88

x 4 =(__)[E8)B32g[Ee][33)[28

x(_)= 28 [38)128][25)(23)(23)(32] 38

x( )= 32 [83[83B3lB3lBalselBslss
— 36 OO 88 OO OO OO OO OO OO 88

x 4

/\'/_\'/_\'/_\'/_\‘5x4 -

0

. 8

12

0
&

4 5 times table

0

5 10

4><5=

°S
\’&’Q\—( €5

\40

15

20

16

yThe hibiscus has 5 peToIsJ

20

DOO\IO\U'I-DODI\)—

e Guide pupils to relate the 4 times table with the 2 times table through
simulation involving groups with members of the same number.
¢ Explain the number pattern of products of the 5 and 4 times tables.

e Surf https://www.ixl.com/math/grade-2/write-multiplication-sentences

-for-number-lines

|10

= 20
25

I
w
o

|
£
o

U‘IDU‘IU‘IU‘IU‘IU‘IU‘IU‘I
I !

X X X X X X X X X

I
=
O

85



5 6 times table

Each tray has
6 chocolates.

':;’?,'35;|2345678q
chocorates| 6 | 12 | 18| 24 | 30 | 36 |||
IS
2 x 6= 12
3% 6= 18
bx 6= 2%
5 x 6 = 30
6 x 6 = 36
7 x( )= 42
(Ox 6 = 48

0 6 12 18 24 30 () () 48 54

\)&, G e Guide pupils to construct a 6 times table by counting in sixes.
\40“" e Guide pupils to relate the 6 times table with the 3 times table. 23.1

86

o Surf http://www.education.com/worksheet/article/times-table-6/




How many
6 7 times table One steaming tray steamed buns
has 7 steamed buns. || are there in the

\ 3 steaming trays?

= 7
14
21
28
= 35
)
49
56

)
A A A A AT A e A AT T

0 7 W 20 2 35 42 49 () ()

X X X X X X X

\I\ID\I\I\I\I\I\I
I

I
2
3
4
5
6
7/
(O
(O

¢ Guide pupils to construct a 7 times table by counting in sevens using

concrete materials. 231
e Ask pupils to creatively make a times table card on their own. 87
e Surf http://www.education.com/worksheet/article/times-table-7/

\"\i\é—( €5




7 8 times table

I have
8 legs.

T A AT AT O AP AP A AT G
o 8 16 2 32 ()(C) 5 (1))

" 1built the .
6 times table 2timestablel 2 [ 4 | 6 | 8 | 10
from the 2 times
table and the M hl
_ 4 times table. 4timestablel 4 | 8 | 12 | 16 | 20
Y Y Y Y Y
6 timestable| 6 | 12 | 18 | 24 | 30

Use the 2 times table

Build a 5 times table.
and the 3 times table.

Ay : . -
A e Guide pupils to carry out the Let’s Explore activity.
o Surf http://www.education.com/worksheet/article/times-tables-8/

88

?,Q;S e Guide pupils to construct an 8 times table by counting in eights
NG and relate it with a 4 times table. 2.3.1




)

e ™\
| x 9 = g | Lookatthe
coloured

8 9 times table

(©CO0
500
500
(
N\ (©00) (000
Every card 399 1888] 2 x 9 = 18 iqi
500] 000 -— |g|1's
h q b d (000 (COO) (00O H Th'
as ¥ beaas. 599 888] 888 3 x 9 = 27| Explain this
J 1©00) [©00) |©00 bl . . .
(000 000 OO0 0O lllultlpllcotlon
500| 000 1600! (666 4 X q — 36
=
1©00) (000 |©00) (OO0 pa‘”’ern
(©00) (000 (000 (000 (00O \_
500! 800! 600! 1000 1660 5 X q — 45
500| 000! 600! 1000 |66 _—
(©00) (000 (000 (00O (00O (00O
500! 000! 1000] 060! 000! 000 6 X q — 54
D00 (000 |©00) 000 000 |©6O —
500) (000 (000) (000 (000 (000 (000
500! 1000] |600] 800! 600! 1000 1660 7 X — 63
500 ©000] |600] 000! 0600 000! 1660 —
500) (000 ([000) ([CO00) (000 (000 000 ([COO
500! 000! 600! 600! 1060 600! 1060 1600 X q —_— 72
500| (000 10600] 600! 060! 600 1000 1600 -_—
'\'\\] 500) (000 (000 ([000) (000 (000 000 (000
500! 600! 1000 000! 600! 1000 600! 1600 1600 X q —
000) |000) 000 |©60] 660 |©00) (©00) |©00) [©66 -_—

| x9= 9
2x9=18
3x9=27

The total of the digits
in the answer is 9.

g times table

123 6738 2 567 2 | 45¢
45 q | 34 8 | 23 7

Ix9=(9 ] 2x9=(18) 3x9=(27

v

?/Q;S e Guide pupils to construct a 9 times table by counting in nines.
OR% (E° e Discuss the arrangement of ones and tens digits in the 9 times table for 2.3.1
WO
A pupils to remember easily. 89

o Surf https://www.superteacherworksheets.com/multiplication/nines-
trick pdf?up=1466611200




| * Multiply. Complete the answers. CJ

© » ; O

x4 — X 5
6 — - 6 7

> X5 D— i —D

2 Find the paths with the same fotal. Which animals will
meet each other?

ol
s~ ok
3/,\\ /;16 * 8+8+8
4xq
b+l HE8E
9+9+9+49 4 x3
3434343 SESL
6 x 6 2 x 6
dx4

?,936 e Guide pupils to construct the 2 times table until the 9 times table.
?\C)(\\AQ’KV"5  Encourage pupils to do the times table mentally. 2.3.1
q0 % o Surf http://www.multiplication.com/games/play/car-wash

o Surf http://www.math-play.com/math-racing-multiplication-game/
math-racing-multiplication_html5.html




| | times table

Each
plate
has
| baulu.

Any number
times | equals

the number itself.

2 Otimestable

There is
none in
every
container.

Any number times
0 equals 0.

O+0+0=0

3x0=@

0+0+0+0+0=0

[

Jx_J=(

]

DOO\IO\U'IJ-\OOI\)—

X X X X X X X

QOODO\UwJ_\oor\)—

TN

I

2

3

4

5

6

7/
O
) O

X X X X X X X

OODOOOOOO

X X

I
DOOOOOOOO

’S
\’&’Q\—( €5

e Guide pupils to understand | times table and 0 times table by carrying
@c 0 out a simulation using concrete materials. 2.3.1
A\ qi




10
times table

3 10 times table

| row has 10 beads.
2 rows have 20 beads.

Explain the relation
between | times table and
10 times Toble

7 +10 +10 +10 +10
tlmes table l ’nmes ’rable A A A A

| x| =1 I x 10 = 0O 10 20 30 40

2x|=2
X 2x10= 20 4X|O=D

)

Complete these. Os5x( )-0 1
@4xlo [j)@@ e G’”D >

o Surf https://www.mathworksheets4kids.com/multiplication/facts/
single-number-column-large.png

e Guide pupils to construct a 10 times table by counting in tens. J




Complete the table.

Number| Number
| of hits | sentence

5 6xl=6

10

Method

Find another two numbers that when multiplied will give
the same answer.

@ @4x3
o

e In the HOTs activity, explain that the scores represent the members }

2.3
232 93

)
v0%€%<g5 and the number of hits represents the groups.
W e Ask pupils to remember the times tables in order to get answers in
the Let’s Explore activity.
¢ In groups, carry out a scrapbook project of times tables of 0 to 10.




Get It, Win It!

Materials/Resources Participants

bottle caps (with question 2 pupils
and answer), pouch

@x3 2X7 6xs T @ @

Questions Answers

Method

| Take one question and ask
your friend to answer it.

Check the answer.

2 Your friend keeps the bottle
cap if the answer is correct.
Take turns.

3 The player who collects the
most bottle caps wins.

?,936 e Prepare the bottle caps. Write questions and matching answers on
?\o\'\ $O“"5 stickers. Attach the questions to the outside and matching answers 2.3.1
q4 <& to the inside. Place them all in the pouch. 232

o Ask pupils to determine their turns before they start playing.
e Emphasise the values of cooperation and honesty in the game.




These I put two muffins

muffins are on each plate.
baked. I now have
5 plates.

|0 when divided
into groups of
two gives 5.

10 divided by 2 is 5.
10 dividedby 2 is equal to 5.

~

Benes-

Total number Number of Numberof 10+2=5

This is the
number
sentence.

of objects objects in groups
each group
(,,9:5 5 ¢ Guide pupils to understand the concept of division as a collection 24|
Q,?‘C(\V\OXE of objects to represent groups and members using concrete materials. o
A

e Introduce ferms and symbols related to division. q5




2 6 satay are shared equally among 3 pupils.
How many satay does each pupil get?

\

6 shared among three
and each gets 2.

6 divided by 3 is 2.
6 dividedby 3is equalto 2.

Oezen

Total number Numberof  Number of
of objects groups objects in
each group

Can 2 pupils share
6 satay equally? Discuss.

c\)@"f@ e Guide pupils to understand the division concept as sharing equally 24
& \AO to represent groups and members using concrete materials.
q6 A o Surf hitp://www.snappymaths.com/division/earlydiv/interactive/
sharing/sharingframe.htm




3 There are 8 pieces I gi\:(e. L:I piTeces
of jelly altogether. otjelly o

Wendy.
—>
8 * I give another
, 4 pieces to
- 4 <——|time Selvi.
4
- 4 < 1time
_ 0
AT fz
4 4 4) 8
- 8

8+4=(2) )

12 pieces of jelly are arranged
in groups of six. How many
groups do we get?

?\
<& o Surf http://www.homeschoolmath.net/teaching/md/division-

<,}‘);‘3 . e Guide pupils to understand the concept of division as repeated 24|

o) V\O‘E subtraction using counters and base blocks. o

q7
multiplication.php




There are
|18 pens.
Each packet
contains 6
pens.

° 0 12 5 18+ 6=
\/\/\_/
What mU|T|pI|ed ----------------------
by 6 will give 187 :

__________________

__________________

b'8;32{ &) I~ |8pm>‘

¢ Guide pupils to relate division with multiplication through simulation
\Aoi\”rs activities using objects.
e Emphasise that division is an inverse of multiplication.
o Surf http://www.mathinenglish.com/worksheetview.
php?id=3532&stid=70038

q8




/ 16 lollipops A --------- A— AN A ;

O 2 4 6 8 10 12 14 16 18
\ . N, NP, P, P, P 2 N, N

4+2=2 [1022=5 [lB=2=(_ ] /18 =9

/ 16 lollipops A S A

O 4 8 12 16 20 24 28 32 36
A A A A N A A N2

8+4=2 |20:4=5 28+4=( ) 32+ ]=8

\(\?,Q: 525 ¢ Guide pupils to construct 2 and 4 division tables using picture cards 24|
& Qo' and number lines.
A e Discuss the relation between 2 and 4 division tables by counting back qq

in twos and fours.




3 How many groups
do we get when
the fruits are

o divided into threes?

0O 3 6 9 12 15 18 2 24 27
N2 NS A NS N N N N N

A S W, Y g

J \ 05 1015 2025 30 35 49 45

5-5=3 920-5=04 30-5= )
15+5=3 20:5=4 30+5=( ]

100 <& w ¢ Guide pupils to understand the relation between number lines and

S e Guide pupils to build 3 and 5 division tables using base blocks and

<& pup g

o o‘es picture cards. 24.1

e
number sentences.




54 A\ 54 is d|V|ded bg 6 A\
s6+6=(9 ] >|(a Jx6= 54>

O 6 12 18 24 30 36 42 48 54
2 A A X AR AR AN

__________
- ~ N

{ Put 49 marbles in } S — pE—

____________

sevens into the holes.

N
\\ P - ~
_____ ~ ' s S
e S A ) Temea_ -7 ’ A
; . i \
, ¢ h \
/ \ \ !
h ) \ /
\ ; N ;
Ay ’ S -7
. Y A R O
. R A R
Seeea- RPN Re ~
We get 7 holes g h - ‘ k
’ Ay -~ S~ 1 \
M 1 \ Vis . [l 1
. 1 ’ \
\ I \
\ |

0 /7 4 21 28 35 42 43 56 63
A A N2 A N N N N4 N

(7-7=1 b =7=9 VMol=7=( 4 = =6
7= )(ke7=2)(2:7-0) %2 =)

o Surf http://www.mathinenglish.com/worksheetview.php?id=860&sti

\(\?,9:5 . e Guide pupils to divide using objects such as bafu seremban and 24|
lexc' V\O“a checkers in groups of 6 and 7. o
d 101
=70005




7 (" Thereare )
24 chicken wings —
altogether. Each
skewer holds 8

s chicken wings. )

______________________________________________

O 8 16 24 32 40 48 56 64 72
\/\/\/\/\/\/\/\/\/

8 97  are grouped in
nines. How many
groups will there be?

—() [There curej>
_»@ 3 groups.

27+9=3 |

O 9 18 27 36 45 54 63 72 8lI
\/\/\/‘\/‘\/\/‘\/\/\/

RV o ) (73 - =t
18:9=2 45:9=55429=_ J 63+ J)=7

\25 e Guide pupils to divide any number by 8 and 9 through repeated
\AOX subtraction. 2.4
102 o Ask pupils to build division table cards of 8 and 9.




Complete these.

__________________________

© | .

__________________________

10+5= 8+6= ]
e . - O+

0 4 8 12 16 0 9 18 27 36 45

A A A L R R R R

4 -4 —4 —4 -9 -9 -9-9 —q

6+ =) 5 ()=

8 0-10

\e‘g@' 5‘6‘5 ¢ Provide more practices in worksheets or question cards. 24
Q,vxc’ $O‘ e Provide a variety of activities such as cross number puzzles to
A strengthen pupils” understanding. 103




There are 3 bowls. |

N\

I I put fish in ones
into the bowls.

L\ Check g Any number
1 =1 = ivided by | equals
@ x1=3 the number itself.
3+1-(30
2
s
30 eggs A Each tray is filled with 10 eggs.

There are 3 trays.

30+10=_ )
Method | ( tens ones ) [ Group in ’rens.%
S.

{ 111 J We gef 3 group
Method 2
0 10 20 30
- 10 - 10 - 10

30+10= 3 |

9\1’5 G ¢ Guide pupils to divide the numbers by | through simulation. 24
Q,?\C\)‘\Aoﬂ‘a e Emphasise that when a number is divided by I, the answer is the 9 : 4 ) 9
04 < number itself. 4.




0 0 20 30 40
VM/

0 0 20 30 40 50 60 /0

1021021 . 20:10=2 C 50-10=( M
0:10=1  20:10=2 50:10=_ )

\\N \\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\\ )/
N e N e e
60+ @=6) (70 (-0

4 @ TQere grcT ?10
to share with S0 we do
Raian not get
Jan. any biscuit.
0+2=(0)
Qo:4=(0] @ 0:9=(2]
Check Check
(0 )x4=0 <9
0 divided
by any number
equals 0.
\(\gﬂl €S * Guide pupils to divide any number by 10 through simulation using 24|
& Qo' objects and picture cards. 249
A e Emphasise that when 0 is divided by a number, the answer is 0. o |05
Any number cannot be divided by 0.




5 Division tables

| 2 3 4 5
l+=l=1 2+2=| 3+3=1 4+4=| 5=z25=|
2+1=2 4:2=2 6+3=2 8=x4=2 10+5=2
3+1=3 6+2=3 9+3=3 12+4=3 I5+5=3
b+l=4 8+2=4 12+3=4 16+4=4 20+5=4
S+1=5 10-2=5 |5+3=5 20+4=525+5=5
6+1=6 12+2=6 18+3=6 24+4=6 30+5=6
7+1=7 4+2=7 20+3=7 28+4=7 35:5=7
8+1=8 16+2=8 24+3=8 32+4=8 40+5=8
9+1=9 18+2=9 27+3=9 36+4=9 45:5=9

[67divided by 3.

10 divided by 5.,

OO
&“’?\ W such as tame and wild animals.
e Surf http://www.teachingideas.co.uk/sites/default/files/
divisontablesjd.pdf

Qo e Guide pupils to build division tables of | to 10.
3! ¢ The animal pictures can be related to the learning of Science in topics
106




6 / 8 q 10;
6+-6=1 7+7=1 8=+8=1 9+9=| 10=10=
2+6=2 14+7=2 16+8=2 18+9=2 20+10=
8+6=3 2/+7=3 24+-8=3 27+9=3 30=10=
24+ 6=4 28-7=4 32+8=4 36+9=4 40=10=4
30+6=5 35+7=5 40+8=5 45+9=5 50=10=
36 +6=6 42+7=6 48+8=6 54+9=6 60=-10=6
42 +6=7 49+7=7 56+8=7 63=9=7 70=10=
48 +6=8 56 +7=8 64+8=8 72+-9=8 80=10
4+6=9 63+7=9 72+8=9 81+9=9 90=10

36 -4 =

Write three number sentences for the answers in
c’6+I=6 ‘: ‘3

30+5=6

6 8 q

‘9\?'9: 6‘65 e Conduct a quiz answering division tables spontaneously. 2.4
Q,?\C’ $O‘ e Provide more practices in worksheets or question cards. 249
A o Surf http://www.fun4thebrain.com/Division/snowyfriend.html o

107



<O HAVE Ry

&».

Riddle me.

Help me to calculate

If you are clever
D|V|de eight by eight.

W///////////////////////////////////////////////

Mathematics is fun
Don’t we all agree?

We have only begun

Divide nine by three.
WW%W\

Play a counting game
Everyone can join too
Answer correctly is the aim

Divide ten by two.

WII0000000000 0 .
]

4

\

=7,

The answer is provided

But hidden from our eyes
What number when divided
by seven equals five?

?

e Guide pupils to solve the riddles. 24
o Surf hitp://www.topmarks.co.uk/Flash.aspx?f=sharingv2




| There are 7 cards. The cards are divided equally

between 2 pupils. How many cards does each pupil
get? What is the remainder?

___________________

- remainder

____________________

Method 2
3
2) 7
- 6
|
7 + 2 = (3 remainder 1|
Each pupil gets 3 cards.
The remainder is | card.
<,,9:‘3 e Carry out more activities o strengthen pupils” understanding and
Q,?‘C(\ V\o’i\”'s mastery involving division operations with remainders. 2.4
A e Explain that 2 is a divisor and the remainder has to be less than the 109
divisor.

e Surf http://www.fun4thebrain.com/Division/snowyfriend.html




2 There are 20 mangoes. Pile the mangoes in sixes.
How many piles do we have? How many mangoes

are left?
20+6=_ |

— T

Method | 3

Remember the
6 times table.

Method 2 C
(3)x6=18 J
Number of piles | | |2 |3 | 4 20— 18 = 2.
Number of 6 |12 24| |The remainder

is 2.

20 + 6 = (3 remainder 2|

There are 3 piles of mangoes.
There are 2 mangoes left.

%) ¢ Guide pupils to divide numbers involving remainders using concrete
Ce‘?%i‘es materiglsp ° ° 241
<N S ) _ . ) .
| |O A ¢ Carry out a quiz that involves division questions using MS PowerPoint.




3 Divide 15 by 4.

15+ 4=
Method | Method 2
3 |5
— 4 :
4) 15 | time
- 12 .
3 - 4 ltime
7
- 4 Itime
5 + 4 = (3 remainder 3 | 3

4  Calculate the answer when 43 is divided by 5.

43+5= ) 43+5= )
8 7
5) 43 5) 43
- 40 - 35
3 remainder 8 remainder
43 =5 43 + 5
=(8 remainder 3| | =(7 remainder 8 |

Which answer is correct?
Why?

e . [ Carry out an activity of dividing two digit numbers by one digit numbers
‘
V\O

through simulations or quizzes.
Surf http://www.homeschoolmath.net/worksheets/grade4/PDFs/ 11

Division_Remainders_2to5.pdf




.
SR remainder

47 + 7 = |6 remainder 5|

6 30:8= ]

Method | Method 2 (3)x8=24
3 30— 24 = 6, S
8) 30 [The rgmc:inder}>
- 24 is 6. 30-8=
6 3 remainder 6

30 + 8 = (3 remainder 6

There are 20 matchsticks.
A matchstick house
needs 8 matchsticks.
How many houses can
be made? Calculate the
remainder of matchsticks.

112

div030Idivision08.htm

e Surf http://www.helpingwithmath.com/printables/worksheets/division/

QQ:S e Guide pupils to divide using concrete materials. 24|

Qy\c\" \40“"5 e Surf http://www.helpingwithmath.com/printables/worksheets/division/ o

A
div030Idivision09.htm




7 40:9=(_ )

Method | Method 2

oo I remainder

40 + 9 = (4 remainder 4|
8
Discuss the remainder =]
in each answer. 9+9= .
10 +9 = I remainder |
I1+9 = | remainder(__)
2+4=3 2+9 = remainder(_)
13 + 4 =3 remainder | 139 = | remainder &4
l4+4 = 3 remainder (| 4+9 =1 remainder(
15+4 =3 remainder( 5+9= | remainder( )
16+4=4 16 +9 = | remainder 7
17 +9=1remainder(
18+9=2
\(\g@' 525 ¢ Guide pupils to use times tables to solve the division. 2.4
lexc' V\OX e Emphasise that the remainder must be less than the divisor.
A e Surf http://www.homeschoolmath.net/worksheets/grade4/PDFs/ 13

Two_Digit_Division_Remainders.pdf




9@ 56+10=_ ) ®ss-10=_ ]

5 8
10) 56 10) 8 4

-50 - 80
R remainder i% remainder|

56 + 10 =[5 remainder 6 84 + 10 = (8 remainder 4)

@ W9:10=__ ]

9 10 x 10 = 100
10) 99
-90
ER remainder |

99 + 10 =(9 remainder 9|

31 + 10 = 3 remainder |
62 = 10 = 6 remainder 2
75 + 10 = 7 remainder 5
D + 10 = 9 remainder 8

14

e Surf http://www.homeschoolmath.net/worksheets/grade4/PDFs/

\e@ﬂl’ 525 * Provide more questions in various forms such as number sentences, 2492
&Qy@' \AOX vertical forms, and situations.
Division_Remainders_2tol0.pdf




I Fill in the blanks.

B
2) 15 7% 8) 42

© () o ()

ermm (amm (e
Q@n:4= ) O@39:5=_ ] @80+9=__]

31 Complete these.
Number of wheels 1 10 34

Types of vehicles

Number of vehicles [ ] [ ] D
Wheels remaining [ ] [ ] D
e Train pupils to complete the number sentences with remainders
Qo involving divisions of 2 to 10.
€ e Provide more exercises for division and multiplication basic facts 24.

e
pC WO
& so that pupils can calculate quickly. 242 115
o Surf http://www.mathinenglish.com/worksheetview.

php?id=1048&stid=70030




| There are 3 vases.
Each vase has 5 flowers.
The total number of
3x5=15 flowers is 15.

2 There are 18 apples. Nina’s
mother puts 9 apples in
each basket. So, there are

18-9=2 2 baskets of apples.

3 22 crayons are distributed to
3 pupils. Each pupil gets

7 crayons. The remainder of
the crayons is |.

22 + 3 =7 remainder |

b4 There are 9 tables. Each
table has 8 guests. There
are D guests altogether.
dx8=72
5 Liew’s father has 83

mangosteens. He ties the
mangosteens in bunches of tens.
He gets D bunches. There are

D mangosteens remaining.

o ‘9&%365 [- Ask pupils to create a story based on the number sentence. Accept J 25

83 + 10 = 8 remainder 3

16 '&?\ W pupils’ stories based on mathematical logic.




|1 Create stories on multiplication.

(0] There are[ ]bicycles.

Each bicycle has ]
4 x 2 =8 | Wheels. The total number

of wheels is C]
(b

There are( ] aeroplanes.

Each aeroplane has [
children. There are [

children altogether.

4x3=12
2 Create stories on division. 16 balls are
Q @ divided into 2
baskets.

—

3 Create stories from the number sentences.

O O

6 x 10 = 60 28+7=4

© 94 = 10 = 9 remainder 4

‘9&'9: 525 e Guide pupils to create stories based on the picture related fo daily 25|
&Q,?‘c’ $Ox situations and the number sentences.

17



| Arif bought 4 packets of
biscuits. Each packet has
8 biscuits. Calculate the
total number of biscuits.

Method

| packet has 8 biscuits.
How many biscuits are there in 4 packets?

Number sentence 4 x 8= D

.

32

0 3 16 24 32

4x8=(32 )

The total number of biscuits is @

All the biscuits are shared
equally among 6 friends. How
many biscuits does each get?

\e@ﬂl’ 525 ¢ Guide pupils to solve the problems using various strategies such as 259
RON(o)! drawing diagrams and repeated addition.
g <




2 Umar has 12 fish. He puts
4 fish into each bowl. How
many bowls are there
altogether?

Method R .

%N a picture.

12 +4 =
3
4) 12
- 12
0 Check with a
N N T R number line.
0 4 8 12
\ A L.
12 + 4 =

There are@ bowls.

All the fish are put equally into
2 bowils. Calculate the number
of fish in each bowl.

\(\g@' 525 e Pose a variety of questions to strengthen pupils” understanding. 259
lexc' V\OX ¢ Encourage pupils to use various strategies such as simulation and trial
A and error. 9




3 50 pupils visit the
National Museum by
van. Each van can carry
10 pupils. How many
vans are needed?

Method
D ———
50+10= ] (5)x10=150
Number of 1 12]3]4|5) e

Number of pupils| 10 |20 [30|40(50

@reate a ’rable(

5

10) 50

The 50 pupils ride in a van that can
carry 9 pupils. How many vans
are needed? Discuss.

¢
&KW

‘é\é’: S < ¢ Provide a variety of questions so that pupils can achieve TP6. 259
120 o'© * Provide more practices in worksheets and question cards. e




Solve the problems.

|1 Jasni bought 2
sheets of stickers.
Each sheet has
q stickers. How many
stickers are there
altogether?

2 Sara arranges 438
photos equally info 6
albums. How many
photos are there in
each album?

3 {I have | box} I have 3 similar

. , boxes of cakes.
fgkzgll’:’egh Each box has 5
: cakes too.

Moli Raj

Read the conversation above. Calculate the number of
cakes Raj has.

47 Madam Ho has 96 storybooks. She puts the books
equally into 10 bags to be given to the orphans.
How many books are not in the bags?

& N0 their understanding.
A o Surf http://www.mathworksheet4kids.com/word-problems/

o \9&«9‘1;5\35 e Provide more questions according fo pupils’ capability to strengthen 259
121
division/Ibyl.pdf




@WW@@@M

” ‘ Materials/Resources Participants

paper, pencil, dice, 3 pupils

Forward and Backward markers and | referee
700
START 3x7  8x5=[]x8  200-90 + 300

There are 150 .
9 hundreds - 5 tens buns. Donate Acar fifs 50 =10

5 people.
120 buns. There 9 cars fit

are[__|buns ] people.

Divide left
56 biscuits "
among 8 pupils. iss a
Each will get[]. END turn.

Method

C&ngra:ulaﬁor&s! N m—
%2 boxes, | |. Throw the dice. Move the marker 308
based on the number on the dice. + 142

[Ix6=18 2. Answerthe questions. Ifthe answer
IS incorrect, miss a turn.
7« ltens 3. Ifthe marker stops at the same -
spot as before, throw the dice again. ~ rorieron

00 4 54 4. The first player who reaches END 2 boxes.
* is the winner.
Find the
Sorry! remainder of
o back to < 2 27 9 divided by 2.
START. 12 = 4 | hundreds 6 multiplied
) + 4 tens by 8
c,\’@?:?@ e Ask pupils to determine their turns before they start playing. 3!32224

WO Encourage pupils to check their calculation among themselves
122 A to make sure the answer is correct and precise. 2.5
¢ Inculcate the value of cooperation and honesty while playing.
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